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BETEH BUEfE R3] e /ME~ KA m/n SE Ji /M~ d R i n/n S5 s/ M~ IR i m/n
p H 7.1 6.5 ~ 7.7 0/ 15
DO (mg/1) 8.7 1.1~ 1l 1/ 15
BOD (mg/1)

COD (mg/1) 1.2 0.7 ~ 2.5 0/ 15
e Gl COD (T Be 75%() 1.6
Ss (mg/1) 6 1~ 52| 4/ 15
KIS B (MPN/100m1) 1. 3E03 6. 0E00 ~ 4.9803] 2/ 5
n —~F il R (mg/1)
L Fx (mg/1) 0.32 0.25 ~ 0.36| 5/ 5
(mg/1) 0. 005 0.003 ~ 0.012) 2/ 5
(mg/1)
(mg/1)
LAY (mg/1)
A7 v 2 (mg/1)
(i3 (mg/1)
HAKER (mg/1)
TV F LK ER (mg/1)
PCB (mg/1)
Crun ALy (mg/1) [ < 0.002 < 0.002 0/ 1
[EEPES (mg/1) | < 0.0002 <0. 0002 0/ 1
1, 2—Y/pnuxfy (mg/1) | < 0.0004 <0. 0004 0/ 1
1, 1—-YZppxFL v (ng/1) | < 0.002 < 0.002 0/ 1
YA—1, 2—-V/unxFLv (mg/) [ < 0.004 < 0.004 0/ 1
eEE 1, 1, 1—h)Zopxyy (mg{\) < 0.0005 <0. ooorj 0/ 1
1, 1, 2= k)zpopxgy (mg/1) | < 0.0006 <0. 0006 0/ 1
M) ZopzFLye (mg/1)| < 0.002 < 0.002 0/ 1
FhIsmBTF L (mg/1) | < 0.0005 <0. 0005 0/ 1
1, 3—YZununra~y (mg/1) | < 0.0002 <0. 0002 0/ 1
FT A (mg/1)
(mg/1)
FARHNT (mg/1)
NPy (mg/1)] < 0.001 < 0.001 0/ 1
L (mg/1)
AL 2 R B DR R e 25 4 (mg/1)
R S (mg/1)
SoH (mg/1) | < 0.1 <01 0/ 1
EPES (mg/D)| < 0.02 < 0.02 0/ 1
1, 4—VAFH)r (mg/1)
) (mg/1) 0. 0020 0. 0020 0/ 1
KAEAIEERE [/ =17 =/ —n (ng/l)
LAS (mg/1)
VA=R=F: V. ] (mg/1)
Tz ) — )bk (mg/1)
KA S LA RIVLT VT E R (mg/1)
4—t—FIFNT =) —)L (ung/1)
7= (mg/1)
2, 4—vrunr7=)—) (mg/1)
rFvA—1, 2=V ZppxFLr (mg/1)
1, 2=y 7mrrrnsy (mg/1)
p—Yrunsr¥y (mg/1)
AV FYFAL (mg/1)
(mg/1)
Z7x=hnFir (MEP) (mg/1)
AV TuFtT (mg/1)
A% L (ATHESR) (mg/1)
sounso=, (TPN) (mg/1)
TrEYI R (mg/1)
(mg/1)
K2 (DDVP) (mg/1)
A 7= )T HNT (BPMC) (mg/1)
A7y kA (1 BP) (mg/1)
sul=rn7=r (CNP) * (mg/1)
hLxy (mg/1)
FrLv (mg/1)
T ANBEY T F N ~F L (mg/1)
(mg/1)
(mg/1)
(mg/1)
Hifbe=r% ) ~— (mg/1)
TEs/poe R (pg/l)
BTy (mg/1)
V7 (mg/1)
7 = ) —)VHix (mg/1)
(mg/1)
(mg/1)
(mg/1)
(mg/1)
(mg/1)
(mg/1)
ZOMEE (mg/1)
TOC* (mg/1)
I ()
B AURE S (ms/m)
ClAAr* (mg/1)
smn7 4)bax (ug/1)
S AR B B A (fE/100m1)
A A o Fh i A (mg/1)
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A 7 -1 I /IME~ IR n/n -1 It /IME~ IR n/n -1 I /M~ SR n/n
p I 7.5 7.2 ~ 7.7[ 0/ 12
DO (mg/1) 10 8.2 ~ 12[ 0/ 12
BOD (mg/1) 1.0] < 0.5 ~ 1.9[ 0/ 12
COD (mg/1) 1.3] < 0.5 ~ 2.2] 0/ 12

AR E G L:‘,(?D (T Be: 75%fiff) 1.6
S S (mg/1) 2 1~ 4l 0/ 12
KIGHBEE (MPN/100m1) 2. 5803 1. 3E01 ~ 1.3E04| 6/ 12
n —~F 4 B (mg/1)
(mg/1) 0.28 0.24 ~ 0.34) 12/ 12
(mg/1) 0.013 0.005 ~ 0.024| 12/ 12
(mg/1)| < 0.0003 <0. 0003 0/ 2
(mg/1) ND ND 0/ 2
i (mg/1) | < 0.005 < 0.005 0/ 2
X VA=PN (mg/1) | < 0.04 < 0.04 0/ 2
=S (mg/1)| < 0.005 < 0.005 0/ 2
: (mg/1)| < 0.0005 <0. 0005 0/ 2
T VX VKGR (mg/1) ND ND 0/ 2
PCB (mg/1) ND ND 0/ 2
A Y (mg/1)| < 0.002 < 0.002 0/ 2
VUHifE R (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2—Y7nunxiy (mg/1) | < 0.0004 <€0. 0004 0/ 2
1, 1—-Y/apxFLy (mg/1) [ < 0.002 < 0.002 0/ 2
YA—1, 2-YrunxFL (mg/1)| < 0.004 < 0.004 0/ 2
e R 1, 1, 1—-hYyrmrxyy (mg/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsmrxyy (mg/1)| < 0.0006 <0. 0006 0/ 2
FYsmeRTFLY (mg/1)| < 0.002 < 0.002 0/ 2
FhIrmnTFLY (mg/1) | < 0.0005 <0. 0005 0/ 2
1, 3—Ysmnsasy (mg/1) [ < 0.0002 <0. 0002 0/ 2
FUT L (mg/1)| < 0.0006 <0. 0006 0/ 2
vy (mg/1) [ < 0.0003 <0. 0003 0/ 2
FF N NT (mg/1| < 0.002 < 0.002 0/ 2
NPy (mg/1)| < 0.001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2
AR 2R R O R Al 2R (mg/1) 0.19 0.10 ~ 0.26] 0/ 12
A 28 (mg/1) 0.002| < 0.002 ~ 0.003| 3/ 12
(mg/1) | < 0.1 <01 0/ 2
(mg/1) 0.02 < 0.02 0/ 2
(mg/1) < 0.005 0/ 2
(mg/1)
KREAEMIMERR | ) =17 =) —1 (1g/1)
LAS (mg/1)
7w a Rl bk (mng/1)
7 x ) — )bk (mg/1)
KA Ay ST RIVAT VT E Rx (mg/1)
4—t—FIFNTz)—)L (ng/l)
7= (mg/1)
2, 4—Y/unrrx/)—) (mg/1)
FFrA—1, 2-Y/apFL L (mg/1)
1, 2-Yranrsunsy (mg/1)
p—Yrmusr Py (mg/1)
(mg/1)
(mg/1)
Zxz=tnFFr (MEP) (mg/1)
AT aFFT (mg/1)
A% 8 (TR (mg/1)
#u=)L (TPN) (mg/1)
(mg/1)
EPN (mg/1)
Y7 uNRA (DDVP) (mg/1)
EEHTA T =) 7 HNT (BPMC) (mg/1)
B P) (mg/1)
L=Fta7x2 (CNP) % (mg/1)
e (mg/1)
(mg/1)
F~F L (mg/1)
=k (mg/1)
(mg/1)
TFEY (mg/1)
Hike=r% /) ~v— (mg/1)
TE/nnok RYy (ng/l)
v (mg/1)
VT (mg/1)
7 = ) — )V (mg/1)
i« (mg/1)
&% ) * (mg/1)
~ Y (HREE) * (mg/1)
e (mng/1)
T =T R He (mg/1) < 0.05 0/ 11
LATHEY (mg/1)
ZOMIEH AV Y CREREY vk (mg/1) 0.004] < 0.003 ~ 12
(mg/1) 0.7 0.5 ~ 9
() 2 1~ 12
(ms/m) 6.4 5.5 ~ 12
(mg/1)
snan7 4)bax (ng/l) 6] < 1~ 24| 9/ 10
S AABVER RS (f#/100m1) 6 2 ~ 9 0/ 4
[ A A > S Al (mg/1)




